Name: Subtraction

37 -3 =_ 39 -3 =__ 40 -17 =___
47 -25 =__ 39 -16 =__ 23 -13 =___
46 -28 =_ 38 - 3 =__ 41 - 0 =__
42 -39 =___ 38 -26 =__ 47 -25 =__
49 -43 =__ 28 -15 =___ 27 -13 =___
28 - 15 = 20 - 3 = 48 -35 =
29 - 18 = 49 - 28 =

Working Mathematically
1)

Nemin has 45 toy cars in his collection. He sold 17. How

many does he have left?

2)  Number of children in each class

%Ycar 3:47 %chr 442 %Year 5:39 % Year 6 : 57

How many more children in year 3 than in year 5?

3) Half Yearly Spelling Scores
Ngu 28/50

What's the difference between Mary's
Ziad  42/50 score and Ngu's score?

Mary 50/50
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